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1 BEARTC IINEES 190 45 100 45

1 FEARTC Fofe HHT 190 45 100 45

3 FATC AR EEZ 125 100 25

3 HROHTC Vet R 125 100 25

3 F¥ ATC 5 125 25 15 70 15
3 Fx ATC FRH &1 125 25 15 70 15
3 FEATC REF fE— 125 25 100
3 Fob A Sf5 A 125 25 100
9 T )Y [FIEESR 102 7 25 70
9 T U = e 102 7 25 70
11 F¥ L ATC &5 A 100 100

11 F=U— EEITEES 100 100

13 JZAHKE [ 70 70

13 JZARHKEF EA . 70 70

13 FATC 1135 BoE 70 70

13 FATC Al e 70 70

17 Fx— M B 67 7 15 45
17 Fxl)— ZX = 67 7 15 45
19 FATC WA 60 15 45
19 FATC PAERES 60 15 45
21 F=)— iy 7 47 7 25 15
21 Fx— S Fd 1 47 7 25 15
21 FrL oY ERIE S 47 15 7 25
21 Frlry Ab)1 s+ 47 15 7 25
25 T A A a3y e 45 45

25 FAA ay BRH L% 45 45

25 JAZavk i 52 45 45

25 FAA 3y el E 1 45 45

25 NTT R&D A i 45 45

25 T.O. P i A LA 45 45

25 HIEATC FAEF 35 45 45

25 BIIEARTC HEH HE 45 45

33 ZOHETC I 10 25 15

33 HOHETC e = 40 25 15

33 Good shot B {E 40 15 25
33 Good shot R PR 1 40 15 25
37 HLTC (AN 37 15 7 15

37 HLTC PR s 37 15 7 15

37 FylLy AR S 37 15 7 15

37 FxlLry Hin A% 37 15 7 15

37 FxlLrv B HACE 37 15 7 15
42 JT=AI57 —JF EH 30 15 15

42 [T=AT57 —JF EF 30 15 15

42 T.0.P FH 0 JIE 30 15 15

42 T.0.P IV ZE JiRAE 30 15 15

42 F ¥ ATC X ESe 30 15 15

12 FROETC B 7 — 30 15 15
42 FROHETC I FE 30 15 15
42 FRDOETC JTHE B 30 15 15
42 FROHETC IESEN 30 15 15
51 HIEATC i L 25 25

51 FylLoY TR BT 25 25

51 HROHETC S H iR 25 25

51 ZROHETC TR FE = 25 25

51 JT=AI57 AA IKE 25 25

51 JT=AIF7 Mot ED 25 25

51 Foh AV O E=E 25 25

51 AN Zjk M1 25 25

51 FAZavh R B 25 25

51 FAA avh JEH Al 25 25

51 BEARTC A 25 25

51 BIEARTC I AAL 25 25

51 FAA avk R 38 5 25 25
51 JT=AIFT RS S 25 25
51 Fr)— i ] 3 ] 25 25
51 F=J— NS 25 25
67 FxLoY A H 22 15 7

67 FrL oy e 22 15 7

67 Fxloy fi] I 22 15 7

67 FxLoy SR 22 7 15
67 Fxlvy JH TEA 22 7 15
67 HROHTC R 22 7 15
73 V=—JZK — I A 15 15

73 V=— AR — I P 15 15

73 FYATC AR Al 15 15

73 FrL oy T F&E— 15 15

73 FyLoY AR T 15 15

73 INAT AT BRI 7% 15 15

73 INAT7AT NS 15 15

73 F=)— A J 15 15

73 F=— TR 6 15 15

73 Fx)— VLR K 15 15

73 o— R VBl 15 15
73 HOHETC 15 15
73 FxLoY 15 15
73 FrLoT 15 15
87 TROHETC 7 7

87 FrL oy 7 7

87 Fr ATC 7 7

87 F ¥ ATC 7 7

87 FA A avh 7 7

87 FAA avh 7 7

87 AH—TC 7 7

87 AH—TC 7 7

87 FrLoT 7 7

87 FrL oy 7 7

87 T 7 7

87 TN 7 7

87 TROETC 7 7
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